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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss in detail the various economic environmental 

factors that influence business decision. 

mu fofHké vkfFkZd i;kZoj.kh; ?kVdksa dh lfoLrkj foospuk 

dhft, tks O;kolkf;d fu.kZ;kssaa dks izHkkfor djrs gSaA 

2. Explain the concept of mixed economy and describe 

the salient features of Indian economy. 

fefJr vFkZO;oLFkk dh vo/kkj.kk dh O;k[;k dhft, vkSj 

Hkkjrh; vFkZO;oLFkk ds izeq[k y{k.kksa dk o.kZu dhft,A 

3. Examine the factors responsible for liberalisation in 

India. Comment on the impact of liberalisation on 

Indian economy. 

Hkkjr esas mnkjhdj.k ds fy, mŸkjnk;kh dkjdksa dk ijh{k.k 

dhft,A Hkkjrh; vFkZO;oLFkk ij mnkjhdj.k ds izHkko ij 

fVIi.kh dhft,A 

4. Draw out the salient features of the New Industrial 

Policy and point out its demerits. 

ubZ vkS|ksfxd uhfr ds izeq[k y{k.kksa dks Li”V djrs gq, 

blds nks”k crkb,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Discuss the social responsibilities of business. 

O;olk; ds lkekftd mŸkjnkf;Rokssa dh foospuk dhft,A 

2. Distinguish between capital intensive technology and 

labour intensive technology. 

iw¡th xgu rduhd rFkk Je xgu iw¡th rduhd essa vUrj 

Li”V dhft,A 

3. Discuss the role of state as planar. 

fu;kstd ds :i esa jkT; dh Hkwfedk dh foospuk dhft,A 

4. Explain the objectives of World Trade Organisation. 

fo’o O;kikj laxBu ds mís’;ksa dh O;k[;k dhft,A 

5. Distinguish between Foreign Direct Investment and 

Portfolio Investment. 

fons’kh izR;{k fuos’k rFkk iksVZQksfy;ks fuos’k esa vUrj Li”V 

dhft,A 
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6. Differentiate between balance of payment and balance 

of trade. 

Hkqxrku larqyu rFkk O;kikj larqyu eas vUrj Li”V dhft,A 

7. State the salient features of the Competition Act, 2002. 

izfrLi)kZ vf/kfu;e] 2002 dh izeq[k fo’ks”krkvksa dk mYys[k 

dhft,A 

8. What are the causes of industrial sickness in small 

sector ? 

y?kq {ks= esa vkS|ksfxd #X.krk ds D;k dkj.k gSa \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. Suppliers are main component of : 

(a) Internal environment 

(b) Micro environment 

(c) Macro environment 

(d) Controllable environment 
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vkiwfrZdrkZ fUkEufyf[kr esa ls fdldk la?kVd gS \ 

¼v½ vkUrfjd i;kZoj.k dk 

¼c½ lw{e i;kZoj.k dk 

¼l½ O;kid i;kZoj.k dk 

¼n½ fu;a=.kh; i;kZoj.k dk 

2. Headqaurter of World Trade Organisation is situated  

in : 

(a) Paris 

(b) New York 

(c) Geneva 

(d) Washington 

fo’o O;kikj laxBu dk eq[;ky; fuEufyf[kr esa ls dgk¡ 

fLFkr gS \ 

¼v½ isfjl esas 

¼c½ U;w;kWdZ esa 

¼l½ tsusok esa 

¼n½ okf’kaxVu esa 

3. Competition Act has replaced : 

(a) MRTP Act 

(b) FEMA 

(c) FERA 

(d) All of the above 
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izfrLi)kZ vf/kfu;e us fuEufyf[kr esa ls fdls izfrLFkkfir 

fd;k gS \ 

¼v½ ,e- vkj- Vh- ih- vf/kfu;e dks 

¼c½ Qsek dks 

¼l½ Qsjk dks 

¼n½ mi;qZDr lHkh dks 

4. Balance of Trade includes : 

(a) Visible items 

(b) Invisible items 

(c) Both visible and invisible 

(d) None of the above 

O;kikj larqyu eas fuEufyf[kr esa ls D;k lfEefyr gS \ 

¼v½ n`’; ensa 

¼c½ vn`’; ensa 

¼l½ n`’; ,oa vn`’; nksuksa ensa  

¼n½ mi;qZDRk esa ls dksbZ ugha 

5. Which of the following measures can correct the 

unfavourable balance of payment ? 

(a) Export promotion 

(b) Import substitution  

(c) Devaluation of currency 

(d) All of the above 
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fuEufyf[kr esa ls dkSu lk mik; izfrdwy Hkqxrku larqyu 

dks Bhd dj ldrk gS \ 

¼v½ fu;kZr izksRlkgu 

¼c½ vk;kr izfrLFkkiu 

¼l½ eqnzk dk voewY;u 

¼n½ mi;qZDRk lHkh 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

6. Eleventh WTO Ministerial Conference was held in 

Nairobi. 

fo’o O;kikj laxBu dk X;kjgok¡¡ eaf=e.My lEesyu uSjksch 

esa gqvk FkkA 

7. The Companies Act, 2013 has introduced the concept 

of women director. 

dEiuh vf/kfu;e] 2013 us efgyk lapkyd dh vo/kkj.kk 

izLrqr dh gSA 

8. NITI Aayog has replaced Finance Commission. 

uhfr vk;ksx us foŸk vk;ksx dks izfrLFkkfir fd;k gSA 

9. The duration of the Eleventh Five Year Plan was 2007-

12 last five year plan. 

X;kjgoha iapo”khZ; ;kstuk dh vof/k 2007&12 FkhA 

10. Legal environment is a major component of macro 

environment. 

oS/kkfud i;kZoj.k O;kid i;kZoj.k dk izeq[k la?kVd gSA 
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